Construction division. Advice for giving credit to contractors/suppliers.

register	8/3/23
Company Name: MRMUD Site:	ME
Name of Contractor P. Praveen Kumar	
Nature of work Inteldine work - 9 Hock	
Work done From Date 2 2 2 3 To Date	15/3/23
Sl. Villa/Flat/block no. Qty. Rate Units Amount	Contractors bill no
1. 20ft ladder 2 3000 No.s 6000	
2. Terrace Oclarge 300 30 Nos 9001	0
3. MS pipe for	
Cerasoard St. 200 20 ST.	000
5 braces to penyll 20	
6. Me for panel soom 540 20 SFF 10, 2 7. Slestrical dust 28 100 No.5 2, 81	
8. 3 1-angle l'intel 200 25 Mas 500	
9. G.T. ebything	
10. for 10ft 450 20 8ft 900	
	600
Diff requires /	YES NO.
I WEASH CHICK IX REGULED	□ Not enclosed
PO/WO no. PO/WO date:	
Remarks: All works done	
Approved by Project Manager Approved by Design Team Approved	roved by M.D.
Date: Date: Date	
Sign: Sign: Sign	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Project:	Gulmohar Residency		management on a colombia to any company and produced to a process page.		Sign:	
Work Description	Work Description: Welding work		The second secon			
Contractor:	P.Praveen Kumar		and analysis of the second			
Prepared By	Nagendar		The state of the s	n plante agrammage Williamstern con conserve the coar and obtained about		
Date:	27.03.23		American de la companya del la companya de la companya del la companya de la comp			
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
	1 G block	20 ft ladder for OHT	2.00 No's	No's	3000.00	6000.00
		Terrace U-Clamps	300.00 No's	Vo's	30.00	9,000
	plumbing Duct 1,3,4& 7 flat	MS pipe for External elevation cera board	1200.00 s f t	aft .	20.00	24,000
		L brackets for panels	20.00 No's	No's	50.00	
		MS L angle frame making for panel rooms	540.00 sft-	sft-	20.00	10,800
and department of the special countries and the special angles on a very constraint and the special angles of		electrical duct ladders	28.00 No's	No's	100.00	
And the second s		3" L-Angle lintel Purpose	200.00 No's	No's	25.00	
		GI earthing in lifts	450.00 Rft	Rft	20	
						67,600.00
					_	

Rft	450 Rft	450	j >	 	1	Glearthing in litts		
200 No's	200	200	-	A comment of the comm		3" L-Angle lintel Purpose		
28 No's	28	28	-	-	P	electrical duct ladders		
sft	540 sft	2	-	10	27	MS L angle frame making for panel rooms		
20 No's	20	20		The state of the s	-	L brackets for panels		
sft	1200 sft	4	60	S	-	MS pipe for External elevation cera board	plumbing Duct 1,3,4& 7 flat	
300 No's	300	300		brand	1	Terrace U-Clamps		
2 No's	2	2	Itemak	_	_	20 ft ladder for OHT	G block	-
Units	Quantity	Nos	Height	Width	Length	Item Description	Item Head	S No.
F	E= AxBxCxD	D	С	В	A			
	And the second s						27.03.23	Date:
				Andrewson and the state of the			Nagendar	Prepared By Nagendar
							P.Praveen Kumar	Contractor:
		TO THE REAL PROPERTY AND ADDRESS OF THE PARTY	elektroniste u.v. ustalos vo		de l'annual de la constitue de		Work Descript Welding work	Work Descrip
		Sign	demonstration (A) (Many)		displace and displ		Gulmohar Residency	Project:
Ram prasad	oy:	Approved by	philippin .		and the state of t		Company Nan MRMallapurLLP	Company Nan
							MEASUREMENT SHEET	MEASUREM

Bill for Labour Charges

P. Praveen Kumar, Mallapur, Hyderabad.

Date: 27.03.23

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

welding work in G block

Towards:

Allowance for labour charges.

S No.	Description	Amount
	Brief description of work done: Towards G block plumbing duct flat 1& 7, 3&4 MS L angle fixing for cera board, terrace U clamps, duct ladders, MS frame	Rs.13520/-
	in G block panel rooms.	
	Total Amount =67600/-	
	Work done from date 02.02.23 to date 15.03.23	

Amount in words: Thirteen thousand five hundred twenty Rupees Only.

Allowance for Consumables

P. Praveen Kumar, Mallapur, Hyderabad.

Date: 27.03.23

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

welding work in G block

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards G block plumbing duct flat 1& 7, 3&4 MS L angle fixing for cera board, terrace U clamps, duct ladders, MS frame in G block panel rooms. Total Amount =67600/- Work done from date 02.02.23 to date 15.03.23	Rs.27040/-

Amount in words: Twenty seven thousand fourty Rupees Only.

Sign: _____

Bill for Equipment Allowance

P. Praveen Kumar, Mallapur, Hyderabad.

Date: 27.03.23

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

welding work in G block

Towards:

Allowance for equipment

	Description	Amount
S No.	Description Towards G block	
1.	Brief description of work done: Towards G block plumbing duct flat 1& 7, 3&4 MS L angle fixing for cera board, terrace U clamps, duct ladders, MS frame	Rs.27040/-
	in G block panel rooms.	
	Total Amount =67600/- Work done from date 02.02.23 to date 15.03.23	

Amount in words: Twenty seven thousand fourty Rupees Only.

Sign: ______